Exercises on cfg notation
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® Parse tree for: x * 10 + y: /T-x :
r » T g
, t
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® Give examples of each: _i.(

e E-sentence: r 4 T-sentence: X

e E-sentential form that is not a sentence:

E+T ’T'#;P-+)/
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More exercises on cfg notation

E — FA

A—e| A4+T

T — T(+P)"
P—id|int | (P)

® Transform this grammar to remove the Kleene star.
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©® Show that both E+T and EA+T are sentential forms:
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® Ambiguous? 3}0 Precedence? /\)u Associativity? /\JC’NL

CS 421 — Class 7-8, 2/7/12-2/9/12 — 11



® Gy E—id|id-E|id *E
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® Ambiguous? /\,u Precedence? /J 5 Associativity? ﬁj\,j‘
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® Go:E—id| E-id|E*id
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® Ambiguous? /Jo Precedence? /> Associativity? L{ff‘f
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®GHE T-E|T
T —id|id*T

e x-y¥*z x *y-z X -y -2
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® Ambiguous? No Precedence? g},’ ASSﬂciatiuity?@7L‘t
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®GE E-T|T
T >id|T*id
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® Ambiguous? A)b“ Precedence? !]E: ~ Associativity? ]"'ﬁ‘—
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Precedence?
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Associativity? L_T-



